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(ft) How is Pay-back period method used as a 
project appraisal method across the world ? 
Discuss.

(c) Define Journal andLedger. Why trial balance 
is prepared?

(d) Fixed costs are variable per unit, white 
variable costs aie fixed per unit, comment

(e) State the main objective of Budgetary 
control ? What are its pre-requisite for the 
successful implementation of budgetary 
control? /

is adopted.

2. M Co. Ltd. is considermg a primary acceptance

to chose one of them. Various information as 
regards the decision to accept or reject the 
projects are given as under:
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> PraKrtA ProiretB
iI$itud outlay (in Rs.): 25,00,000 30,00,000
Net profit after tax (in R s.):
year-end* 1 8,00,000 4,00/100

 ̂ a 6,00̂ 000 s,oe,ooo
3 4,00,000 7,00,000
4 4,00,000 9,00,000 

1 5 8,00,000

isRs.22,00,000 with a scrap value estimated at

life of5 yean. Project dxtfataoii is also 5 years. 
If cost of capital is 12%, advise die company 
about acceptability of the pecjects following

Cof*o«tetaxrateis 50%. 12

3. (a) How is internal rate of return (IRR) 
'Wdculated for any project ?

($'Hdw isIRR used todetennine acceptability 
of the project?

<*) What i» the limiutioa, if any, from which 
IRR suffers from ? 5 + 3 + 4
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4. Journalise the following transactions in the 
books of Ratan: *2

2016 (X)
Mar. 1 Started business with cash 2,00,000

5 Purchased goods in cash
fromMadhu 45,000

8 Purchased Machine , ,

from XYZ Ltd. 54,000

12 Paid Salary 30,000

17 Sold goods in cash
toKamal 80,000

20 Sold goods to Bimal -
on credit 70,000

25 Returned goods from
Bimal 5,000

30 Received interest _ v 3,000

5. With the help of the following ratios regarding 
lodo Films, draw the Balance Sheet of the 

I company for the year 2015 : 12
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Current Ratio 2-5 .
LimikfityRMio 1-5
^ V o A in g C p M  5 Rs. 3,60,000rni, Wi t  " joJ
Stock TumoverRatio 6times
(Cost of sales/closing stock)

llo ^R atia  o; \n\
Fixed Assets Turnover Ratio 24iraes

*3t e f ? M ^ b s f V * .  r:X;vu n,'-v
B ebtC oliectionP eriod

■■■. syt ^ ;l«i ■■
Net Worth Q*8Qr,

. .SifilH #■■■ < .v.
Reserve and Surplus to Capital 0-50

iTV*..b'£xm'd Ol f)5». - 1 ‘ :><r|T t vi s

< of a factory: i’v^o

' afil W " ! ’-
Material Consumed Rs. 40,000>( ) ,rf .
Variable OveAeads 10,000
LabourCharfes ' ; (Vi
Fixed Overheads . ■ mffi~ sikn f t^ j j  (\H  88,000

N* Proflt ■■ n?,«w v v , ,  *»,*
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Calculate:

(i) The number of units by selling which 
the company will neither lose nor gain
anything;

(ii) The sales needed to earn a profit of 20% 
on sales;

(#0 The extra units which should be sold to 
obtain the present profit if it is proposed to 
reduce tke selling price by 20% and 
25%, and

(/v) The selling price to be fixed to bring down 
its break-even point to 500 units under 
present conditions. 12

7. (a) Write the significance of the following 
ratios:

(*) Debt-Equity ratio 

1 (/*) Net Profit ratio 

! (/if) Stock turnover ratio

(  6  )
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(iv) Debtors tumover ratio
(v) Current ratio

(vi) Activity ratio.

(b) Taking hypothetical example draw a Break 
Even Chart and explain its significance.

( lx6)  + 6

{Internal Assessment: 30Marks]

PCWIS/MCA-202/16 MV—150


